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1.

The loudness of sound depends upon the

[a) wvelocity of sound waves in the
medium

(b) amplitude of the sound waves
{c) frequency of the sound waves

{d) frequency and velocity of the sound
waves

e @ mEer R w8

(a) Az F a9t B A W
(b) @ Tt @ s ue

(c) @@ wel & gy 9

(d) < T @ smERy SR 9T W

The absolute zero temperature is 0

Kelvin. In degree celsius (“C) unit,
which one of the following is the
absolute zero temperature ?

(a) 0°C (b) -100°C
(c) -273.15°C
TR I W9AM 0 dfead wl R
wfowgw (°C) 715% § WX I W9AN
frmfofaa # & sR—w 2 ?

(d) -173.158°C

a) 0°C (b] -100°C

() -273.15°C  (d) -173.15°C

Brine is an aqueous solution of

(a) NaCl (b} NaOH

(c) NaHCO, (d] Na,CO,

AT Wl (sg) e ol e 87
(a) NaCl (b) NaOH

() NaHCO, (d) Na,CO,

(ct
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Blood is a type of

{a) Epithelial tissue
(b) Muscular tissue
(e} MNervous tissue
(d) Connective tissue
ECO R COR COREE ]

(a) SUFE Had ©
(b} U Fow 2

(c) T Fod €
(d) WA Se &

Lub-Dub’ sound is produced due to
action of :

(a) Large intestine

(b) Lungs

(c) Heart

{d) Oesophagus

‘we—<9 wi- fFEdr ffm & @
T B R 7

fa) w3 (b) BHS

(€) ¥4 (d) BT

Who was the Education Minister in the
first Cabinet of Independent India ?

(a] Sarvepalli Radhakrishnan

(b) Sardar Vallabhbhai Patel

(e} Maulana Abul Kalam Azad

{d) Acharva Narendra Dev

wWoe NG & WoH Afadved § fRer 5=
BT Y 7

(a) AITEH VTETHWH

(b) VRER TEeHHE UTd

(c) HIETET ST WenH IS

[d) maTd A Td
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7. Which one of the following associations
was founded in London by Dadabhai
Naorgji in 1866 7

{a) The Bengal British India Society
(b)
(¢)
(d)

7. @9 1866 ¥ qreMTY SRIGH ERT @A H,
frafafles ¥ ¥ $9-2 99 (Fwm) @

The East India Association
The British Indian Association

The Madras Native Association

=TT H TS 7

@) ¥ e Rfew shegr wEEd
(b) T ¥ e TEitgE

() = By s R
(d) = wer A iR

8. Who is presently the Secretary General
of United Nations Organisation .

(a) Antonio Guterres
(b} AminaJ. Mchammed
[c) Dennis Francis
(d] None of these
8. TUHM F Wgwo Y W9 @ geraftd F14
g7
(a) WETEET TERH
(b) SFT Gio HIERTS
c) =Fe wifes
(d) 9 W TS G

9, Jelep La pass is located in
(a)
(b)
(c)
{d)

Punjab Himalaya
Sikkim Himalaya
Kumaon Himalaya

Kashmir Himalaya
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Selg—Tl SN Pel e & 7

(a) TEE fEEIE
(b) fuf¥ws fEmeE
() TS e
(@) @R fwe

Which one among the following is the
coral group of islands of India ?

a) (b Nicobar
{c] Barren (d) Lakshadweep
efafaa 4 | $9-91 @ 4R @1

Andaman

yaTel B1U-WE & ?

(a} ATSATA (b) FomER

(c) A (d) FEET

Which one among the following is not a
Fundamental Right under the
Constitution of India ?

(a) Right to equality

(b) Right to freedom

[c]  Right to citizenship

{d}  Right against exploitation

HNG @ waas ® swta Feefaiag § 9
FF-—w U@ Aifow (7o) e 6 8 7
|Har & AfER
e W AEEN

(¢ TR @1 HAfEHR

(d) =wer @ Reg dfer

The ‘Basic Structure Doctrine’
by the Supreme Court

(a)
(b)

Was
enunciated
during the

{al Golak Nath case

{b) Maneka Gandhi case
(c)
(d)

Kesavananda Bharati case

S. E. Bommai case
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12, aERyE wye fEm @Rie gEr

13.

13,

14,

14,

15.

Sifee=) Segan araTed g R AT

& s e fa T ?
(a) TAHATS ATHEAT
(b) EET TR AT

{c) AT AT AR
{d) UHo N0 AFE HHEN

Who among the following was not a
member of the Drafting Committee of
the Constitution of India ?

() B.R. Ambedkar

{b) K. M. Munshi

{c] Krishnaswamy lyver

{d} M. K. Gandhi

TH W @i 9vd @ WRuE @ aree
wfEfr 1 waw o o ?

(a) H0 IO IS

(b) 0 THO HI
(c) OTNEHT 3R
(d) THO wo Tifedt

Which one of the following is not an
ASEAN member ?

{a)] Cambodia (b} Laocs

(e} Myanmar

Freifefaa 4 ¥ S99 UF ASEAN &7
Hew A8 & 7

fa) EESAT
(c) FIAR

{d} Taiwan

(b) @
(d) drEaT
In the term GIS, ‘G’ stands for
(a) Google
(¢} Goodness

(b) Geographic
{d) Geological

{C
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gs e H o Fwmmafog g ?
(@) TS (b) forarnfies
(c) &I (d) forgriioree

A set of instructions in a sequential
manner telling the computer what to do

i called ;
{a} Instructor (bl Compiler
{c} Program (d) Key-Board

FHIYEY B, 7T FO1 8, T8 g0 @ forg
fer @ are fdel (FER) @ wE
(set) B FHET TAT & ¢

(a) ST (b) HHTEEN

(c} Wrmw (d) ®—aTe

Electronic components predominantly
used in first generation computers were

la) Magnetic drum
{b)

{c]  WVacuum tubes

Transistor

dy  IC

W Rl @& @egeY A gE W99
goaSie TedH WY e o |

(a) gEHE §A  (b) TR

) Prafoecgs (g ond

A source program is directly converted
to .exe file by which of the following ?

(] Interpreter
(d)

frr & ¥ e g Ue WO AU
T exe TEA A yRafta g & 7

(b) FETHER
(d) feime

(a) Compiler

(c} Assembler Linker

(a) WHEIFER
(c) aTHEwN
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20.

20.

21.

21.

22,
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Which protocol is commonly used on
intemet to exchange files ?
{a) Telnet (b} Gopher
() FTP (d} SP
TEW @ deer-9eel g Fevie W
g W ARl B S9ar fRar
T &7
(@) ToE (b) TR
fc) URellodlo  (d) THedlo
Which of the following command is used
to add hyperlink in a document ?
(a) Ctrl+F (b) Ctrl+K
lc] Ctrl+B (d) Ctrl+V
TE g H ERWRfHE S @ fory
=t % & frw Fwie &1 WA e @
27
fa) Ctrl+F (b) Ctrl+K
{c) Ctrl+B (d) Ctrl+V
The type of memory which is fast and
temporarily stores the data which are
immediately required for use is called
as:
{a) HDD () ROM
{c) RAM (d) SSD
YA F T8 gER o 0F g i srerd
w1 ¥ @Ra aifod sifeel o duflRd
CEGIN
{z) HDD (b)) ROM
ic] RAM (d)] 35D
A web page is primarily written in the
language
(a) C++ (b) Python
{ci HTML (d) Java

(C-6)
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ferea wmar 21

la) C++ (b) wrEEs

() HTML (d)

Every web page has an address

associated with it. This address is
known as

(a] URL (b) TP

{c} TCP (d) Browser

B dQ U9 B W UF Uar el gl §
{a) URL (b) IP

{cj TCP (d) AT

A popular protocel for sending e-mail is
(s} TCP (b) UDP

(c) SMTP (d) HTML

§4 ¥ 3 Ry Ue Aely sewwe
g

(a) TCP (b) UDP
fc) SMTP (d) HTML

MAC address is .........hccovninnis bits long.
fa) 24 (b) 48

e} 124 d] 64

#e (MAC) TR faew @1 grar &1
la) 24 (b) 48

fe) 124 (d) 64

Temporary storage area that

compensates for differences in data rate
and data flow between devices is known

(b) Channel
[d) Buffer
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26. W] YUSRY &3 W IgHR @ 49
_t&aﬂaﬂ?éama%waﬁm
T & OF PHEelT &

(@ @9 (b) el

c) Hfew (d) THY
27. FTP stands for

{a) Folder Text Protocol

(b) File Transfer Push

[c) Fixed Terminology Placement
{d) File Transfer Protocol

27. FTP &1 94 §
fa) WieEY SaE WIEIETE

(b) T EIFEWER 9
(c) frowe effFE =<

[d) I TEWY WErmie
28. All the deleted files go to
() Recycle Bin
(b) Taskbar
{c] Tool bar
(d) My Computer
28, I fEwie @ g% wigel = F ol @

() TEaR () g DR
29, Which of the following is not an
operating system 7
{a) DOS (b) UNIX
(¢) LINUX (d) MS-Office
20. feforfaa # & 319 ST fawes 7@
87
(a) W (b) g
(c) Tomad (d) THOURO Hifrd
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30. The process of switching from one open
window to another is called

{a) Task switching (b) System call

[¢) Moving (d) None of these

30. S uE faset | gEy siun fawsr A
Rae @ & wizear @ o 8

(a) e fEfET (b)) Red |

(c) HfE (d) 37 PIE TE
fdw  (31.3s) : Frfofea & & 4=
o+l arel e &1 ggT dluii—

31. (a) faworEor (b) fareeras
(c) fagemgo (d) feremyor
32, (a) WY (b) YRS
(c) TS (d) e
33, (a) Wed® (b) wEIIE
() wrEfa® (d) oo
34, (a) dfewR (b) WfEwmR
() TETERR (d) afEERR
35. (a) forcrorent (b) fereraren
(c) Fraiafer (d) ferearafe

frdw (36-40) : Frifoilan o vl &
form ve g wee Ry N0 fawedi ® 9@ g

36, fod® WA o990 A9 Bl
(a) wifd® (b) w@fifs
() aywferHr (d) W

37. 98 WISEH 6 W4 9Y 99 ¥ Ay
ded 8-

(a) T (b} gafe

(€] ¥TE T (d) 3ITE
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38. Wl ¥ @I Bl BYe e-

(&) IFA (6] ¥R

(c) WY (d) T
39. forwd omR—uR S/ W Weh—

@ e (b) gt

{e) TS (d) eTeraEr
40, 1Y § 997 Hlki—

(a) @fre (o) @R

) S (d) o

e (a1-a2) : frafafes HeEmsi/
drmiferat @1 s 9 Ry v et § |
i
41, TR & 4R 9 goEr o ol g

(a) JHr A

(b) OuIfeTd &¥ &

(¢) Fugf @
(d) @fes s He
42. ‘B F1 ' &1 aef B-

(a) T g (b) I A

() TR () AN A

Frém (a3—ae) : Pr=fifm amawor =y
eFgde ufgy 3R Iwd Waldd ueHl @1 9Ty,
W oEe 3 [EREER 8, Ry 7y et §
H gfg-

@ @ forg 9vg @1 8L W9 9% 980
T WU §, 99 9H geg o ", @iy 41
ST | S TS AT | S =@edr & 5w
Jr—a fAer o1 awER o @) g9 @ am,
v W e B d ouR @R o 8 a9 Wi
g9 W A o Wit @ geer avew & vEd!
& fr A W aTR ol wifte & s

(C-8)
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¥ fagm <ew 8| fyaw =€ & o0 @ 9w,
R & 994 § WS B @, 99 Hdl aEET
& F9 fAewr| SHer | SRR Hal
gAY YET & | 9ua fw o 8 9' o A8
2| oy, sME-HedT § 99 g B O
form foelt % @8 spE—Fer w@Wfas &
I R, U W 99a A vd fom @ fay g2
o &1 9 R @ dwey @' wwe g @
3R 7 OY TEox By " s Bl S ¥
T Hifcas was @ S garEr T4 8|

43. TEY F we WiE 2
(a) arEa (b) ©F—amM
(c) ®H o sy (d) @ afie Wi

44, WIS H JRIH] Hag IAEHT T
B ® 7

(a) @& wifcas wiE"T W= #Tar 8

(b) fomm & o9 & wo= B9 @SR
H! IaEY el [Hetdl

o o A O ¥ 98 st T
@ Uy & oen 2

(d) =T @ S99 9 9% wuT & orr
3

45, Wifa® g &1 &7 59 e T e ?
(a) EF-H (b) T
(c) TRITEHTR (d) e

46, WA 59 UHR 1 g " T8 ?

(@) @M B gl T 8 @ gW "W
T 8

(b) &F WG A B B g A T E
(c) WA UK B B g HIAT AT E

(d) IME-DHedd | T g AN
T 8
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frder (47-48) : F=fofag o=l @
waTeefl e T gaw 99a fRw v et A

W ey —
47, FHAe
(a) @A (b) wEw
(¢} TaH (d) 3Tl
48. =4
(a) forwaR (b) IEDR
{c) &@en (d) FETwET

e (49-50) : F=fafea s=l &
o e T 99s 99e fRu v Aeedi H H

T
49, &
2] ¥g¥d (b) T
() fAfF=a (d) I
50. fte
fa) A (b) Held
€) 3 (d) e

Direction (51-54) : Read the following

information carefully and answer the
questions given below it

Six friends A, B, C, D, E and F are
sitting in a row facing towards North. C is
sitting between A and E. D is not at the end.
B is sitting immediate right to E. F is not at

the right end.

51. How many persons are there to the right
ofD?
(g} One (b} Two
[c} Three (d) Four

101
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Which of the following pairs is sitting to
one sideof D ?

(a)
(c)
Who is sitting immediate left of C ?

(a) {b) E

c) (d) F

Who is at the right end ?

{a) b) B

) E (d) F

frder (51-54) : P=fafaa gemmel =

FB (b) FC

FE (d) AC

A
B

A

wEugdE gg R Am Ry oy gl @

TR T

e €94 A, B, C, D, E 3R F 9w %I

URge wve twm i A S #C, AR E
Fdg e Bl Do A A B B,E® BF
T AST B F TG W 3d H AE B

al.

52.

53.

54.

D % =T} 3R fba- afda & 7
(a) & (b) =T
(e) = (d) =X

e # ¥ e9-wT YN D & &
s doT 8 7

(a) FB (b) FC
(c) FE (d) AC

c % &% TN WE e d81 2 ?
fa) A (b) E

(e} B (@ F

T fAR oY B dor 8 7

(a) A (b) B

() E d F
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Direction (55-57) : Read the following
information and answer the questions given
below :

B is the mother of A. C, B's sister, has a
son D and a daughter E. F is the maternal
uncle of D,

55. HowisArelatedtoD ?

() Cousin (b] Nephew

{c) Maternal Uncle (d) Brother
56. How is E related of F ?

(a) Sister (b) Daughter

{e) Niece (d) Wife

57. How many nephews does F have ?

58.

59,

60,

GET IT ON
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NECESSARY

(a} One (b) Two
{ci Three (d) Four
PREAMBLE

(&) One (b) Two
[c] Three {d] Four
ORIENTAL

fa) One (b)] Two
[} Three (d] Four

fdwr (58-60) : FA=fafaa # ¥ wals

we # Ry g v A o & U9 faom Wi
g foe &g oom & oo € faos @& sl

FofrEar § g9 49 B & 7
a) Nil (b) One S
o8, SSARY
() Two (d) Three 4
U® b
frdwr (55-57) : For=fafem oen od (&) (b
afk i Ry 7Ty Wl @ e g () = (d) =
B AR T C BRI Tum A | O PREAMBLE
D # 3w 7@ ¥ E ¥ F, D &1 A 2| (a) @ (b) =
55. A, D ¥ 9 yoR wed & ? (c) (d) ¥R
(a) m .;ng ﬂ:l} W 60. ORIENTAL
() (a) wrd i =
' d) ™R
56, E,F 9 f5d war dafa & 7 (e} (d)
61. What will be obtained by multiplying the
Bl S B Y difference obtained by sublracting 3%
(c) Wl (d) G
1 2
57. F @ foes wior & ? fron S By 30
o i @ () 2540 (d) 2450
(&5
1 2
Direction (58-60) In each of the 61, gaﬁ' i 33 e TR U 3R F 450
following questions, find out how many such - o FIT T FIT 9T BT 7
pairs of letters are there in the given word,
each of which has as many letters between (a) 2250 (b) 2045
them in the word as is/are between them in (c) 2540 (d) 2450
the English alphabet.
(c-10)

101
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If —=—== then, what is the value of

(] )
b | o

|

ratio (C+A) :(A+BF:(B+C)'?

T

(a) 64:25:49
(c) 64:55:49
AB C &

() 54:35:39
(d) 64:25:51

SRR
(c+AP:(A+BY :(B+C) & A1 41 &7
(a) 64:25:49  (b) 54:35:39
() 64:55:49  (d) 64:25:51

Two numbers are in the ratio 1 : 3. If
their sum is 240, then what is their
difference ?

(&) 120 (b) 108
(c) 100 (d) 96

2 WEgE 1 ;3 @ agaa H E) Tl
TAPT AMHA 240 B, T TG H=N
e 2 7

(@) 120 (b)
() 100 (d) 96

108

A alone can finish a piece of work in 20
days while B alone can finish it in 25
days. Both work together for 5 days. Then
B leaves the work. In how many days can
A alone do the remaining work 7

(&) 11
() 15 (d 17

A e e o @ 20 fGF H A
TN GHal € WEle B Ade 59 I B
25 fBs ¥ wWw @R 9Har 81 SWl
ey 5 foe &t o € il B @M
Blgpy dal ol | W9 & B A
gaven foee fas & @ o ?

(b) 13

(5) 13

(a) 11
€ 15 (d 17

65.

B5.

66,

67,

(c-11)
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A can do a piece of work in 4 hours, B
and C together in 3 hours and A and C
together in 2 hours, In how much time
B alone can complete the work 7

{a) 10 hours (b} 12 hours
() 8 hours (d) 24 hours

A vE Fd F 4 92 H B T ¢ e
3 g2 F gyl A 2R ¢ feey 9d 2
e H QR FY WHd €| B ydell g9
wE & e g H RS Y

(a) 1090 (b) 12 ©VE
c) 8&EWE (d) 24 v

A man goes from A to B at the speed of
B0 km/h and returns from B to A at the
speed of 40 km/h. What is his average
speed for the whole journey ?

(a) 50 km/hr (b} 48 km/hr
{c)] 45 km/hr (d) 55km/hr

U g A ¥ B @F 60 fhHIe Hid
TSl F Y A TG ETH B WA TE
40 fopdte ufer gver &1 nfy | wear 2
warf @ @ f6U Swe afed i
fepe=it £ 7

@) 50 e sHEr
(b) 48 fF¥re /HET
c) 45 e /Hel
(d) 55 fFdre /HRT

A person goes from point A to point B at
the speed of 4 km/h and returns from
point B to point A at the speed of 6
km/h. What will be the ratio of the time
taken to reach from A to B and the time
taken to reach from Bto A ?

(b) 2:3
(d) 3:2

fa) 5:3
fc) 2:1
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68.

68.

69.

69,

ae4y?

e e fog A 9 fag B T 4
et /Trver @t Tifer | e & o A
fag B & &g A @ 6 ffo/ =ver
@ wfy & oear €1 A € B O 9gdd
T B W A TP O W @ WHG @
AT a4r sy ?

(@) 5:3 (b)
d 3:2

2:3
e} 2:1
Simple interest on a sum of money is
equal to % of principal, and number of

years is equal to rate of interest. What is
the percentage rate of interest per
anmnum 7

la) 2.5% {b) 5%

e} 7T="% d) 10%

b |

1
a
2 wor out 9 W, ofoem s @ TR
£ | &ra @ arfie &% foer & 7

b) 5%

feredt 1?1 ov wEReT @S ey @

fa) 2.5%

1

fc) 75% {d) 10%

Find the compound interest of Rs.
125000 at 8% per annum for 9 months,

when the interest is payable guarterly.

(a) Rs. 7651 [b) Rs. 7605

¢} Rs.8652 (d) Rs. 8052

125000 B0 BT 8% e =X H 9 AE &
IWgly AW TO HifeY, wEfE =e

ferardY 29 81
(a) 7651 %0 (b) 7605 %0

(] 8652 %0 (d) 8052 %0
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70. What is the value of (0.74 +0.38 +0.90)

(a) 187 b) 214

(c) 356 (@ 4.12

70. (0.74+0.38+090) P A7 T & 7

(a] 187 (b) 214

e} 356 d 412

Directions {71-74) : Read the passage
and then answer the gquestions based on it
You are requited to select your answers
based on the contents of the passage and
opinion of the author only.

PASSAGE

The debate about
stronger than women
because the word “strong” may mean many
things. For example, men are generally better
at lifting heavy objects, striking forcefully,
and doing intense physical tasks. However,
women tend to live longetr than men and
often have stronger resistance to disease.
They also often excel in tasks requiring
precision, such as those involving finger
coordination or working accurately over long
periods. So, it could be argued that women
are stronger in these respects. The truth is
that each gender is stronger in different

whether men are
is often unclear

areas, and to argue otherwise is 1o
oversimplify the topic,
71. Why is the debate about whether men

are stronger than women unclear ?

{a) Because both genders are equally
strong in all aspects.

(b) Because the word “strong” may
mean many different things.

{e] Because men are always stronger
than women.

{d) Because strength is only measured
by physical power.
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72. According to the passage, men generally
excel at which of the following ?

() Living longer.
(b) Tasks requiring precision.

(¢} Lifting heavy objects and physical
labour,

([d)] Resistance to disease.

73. What strength do women tend to have
over men, according to the passage 7

{a} They are better at lifting heavy
objects,

(b) They live longer and have stronger
resistance to disease.

ic) They can strike forcefully.

(d) They are stronger in physical
labour.

74. What is the main message of the
passage 7

{al Men and women are equally strong
in all areas.

{b) All women are incapable of
running, jumping and doing
physical labour because they are
not strong.

{c] Men and women are strong in
different ways, and the argument

about one being stronger than the
other oversimplifies the topic.

(d) Only physical strength should be

considered when comparing
genders.

Directions (75-79) : In the following
questions, out of the four alternatives, select
the word nearest in meaning to the words

givern.

75. Vitriolic
{a) Imaginative {b) Sprightly
(e} Vivacious (d] Abusive
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76, Candid
fa) Kind ib) Courteous
[c} Generous (d) Frank
77. Profane
{a) Assert (b) Benefit
{c) Lengthen (d) Desecrate

78. Interpolate

{a} Clarify (b] Investigate
(c) Reverse (d) Insert

79. Nadir
{a] Asylum (b) Heaven

[e} Lowestpoint (d) Zenith

Directions (80-84) : Choose the
alternative that is most nearly opposite in
meaning to the given words.

80. Fiasco

{a) Success (b) Joy

e} Fun d) Disaster
81. Confident

{a) Imprudent (b) Impatient

¢} Diffident (d] Reluctant
B2, Mammoth

la) Significant (b] Small

{e) Unruly (d) Noisy

3. Engrossed

{a} Occupied (b] Inattentive

fc) Engaged (d) Absent
B4. Altruistic

fa} Selfish (b) Imhuman

{c} Bratal (d) Wicked

(C-13)
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Directions (85-87) : Choose the Directions (88-90) : Out of the given
alternative which best expresses the meaning alternatives, choose the one which can best
of the given idioms/proverbs : be substituted for the given words or

sentence,

85, To leave no stone unturmed

(@l to keep clean and tidy 88. One who cannot be corrected.

(b) to try utmost la) Incurable
) to work enthusiastically (b) Incorrigible
(d) tochange the things {c} Hardened
86. Through thick and thin (d) Invulnerable
la) bigand small 89. One filled with excessive and mistaken

enthusiasm in a cause,

jb) large object

(] under all conditions (a) Pedant (b) Patriot
{d) thin and fat {e) Fanatic (d) Martyr

a7. 1l at ease 90. An office with no work, but high pay.
{a) Restless () Weorthless {a) Honorary (b) Sinecure
{c) Listless (d) Sleepless {c) Ex-officio id) Reticent

(C-14})
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Note : English Version of the instructions is printed on the First Page of this Booklet.

(C-16)
101


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

